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Instructions

· The time for the test is 1 hour.

· Answer all questions. 
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Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

1
Point A has coordinates (3, 2).
Point B has coordinates (–5, 8). 


Work out the coordinates of the midpoint of the line AB.
........................................

(2 marks)
2
a
Draw the graph of y = 3x – 1 for –2 ≤ x ≤ 3.
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(4 marks)
b
Use your graph to estimate the value of y when x = 1.4.
y = ........................................

(1 mark)
3
Use the grid to answer this question.
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a
Reflect shape A in the line y = 1 and label the image B.
(2 marks)
b
Rotate shape A 180° about (0, 0) and label the image C.
(2 marks)
c
Translate shape A by vector 
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 and label the image D.

(1 mark)
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4
Shape T is an enlargement of shape S.


Write down the scale factor of the enlargement.

........................................

 (1 mark)
5
Emily cycles to work and back. 


The graph shows Emily’s journeys during part of one day.
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a
At what time did Emily leave her home?
........................................

 (1 mark)
b
The distance from home to work is 2.5 km. 

What was Emily’s speed on her journey to work? Give your answer in km/h.

........................................ km/h

(2 marks)
c
During the day, Emily left work to have lunch in a café 1 km away from her work.

How long did she spend having lunch?

........................................

 (1 mark)
6
There are 28 cupcakes and cream cakes on display in a shop.


The ratio of cupcakes to cream cakes is 1 : 6.


Work out the number of cream cakes on display. 

........................................

 (3 marks)
7
A bracelet has 20 silver beads and 16 gold beads.

a
Write the ratio of silver beads to gold beads in its simplest form.
........................................

 (1 mark)
b
A smaller bracelet has the same ratio of silver beads and gold beads.
There are 15 silver beads. How many gold beads are there?

........................................

 (2 marks)
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8
Find the equation of this line.

........................................

 (3 marks)
9
Find the gradient of the line which passes through the points (3, 12) and (5, 8).

........................................

 (2 marks)
10
Fernando and Inma have some money in the ratio 3 : 12. 

Inma gives half of her money to Fernando. 

What is the ratio of the amount of money Fernando has now to the amount of money Inma 
has now?

Write it in its simplest form.

........................................

 (2 marks)
11
Use the grid to answer this question.


Enlarge shape T by scale factor 2, centre of enlargement (0, 1).
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........................................

 (3 marks)
12
Use the grid to answer this question. 
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a
Reflect shape P in the y-axis and label the image Q.
 (2 marks)
b
Rotate shape Q 180° about (0, 0) and label the image R. 
(2 marks)
c
Describe fully the single transformation that maps shape P onto shape R.
....................................................................................................................................................................

....................................................................................................................................................................

 (2 marks)
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13
Describe fully the transformation that maps 
shape S onto shape T.

..........................................................................................

..........................................................................................

..........................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

 (3 marks)
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14
The recipe shows the ingredients to make apple pie for 8 people.
	Apple pie (serves 8)

	200 g flour

	4 large apples

	120 g butter

	60 g caster sugar


a
How many grams of butter are needed to make an apple pie for 20 people?

........................................ grams

(3 marks)
b
Claire wants to make an apple pie for 12 people. 


She has:


• 300 g flour


• 8 large apples


• 200 g butter


• 80 g caster sugar

Has she got enough ingredients to make apple pie for 12 people?

Show all your working.
........................................

 (3 marks)
15
It takes 5 people 30 minutes to paint a room.


How long will it take 15 people to paint the same room?

........................................

 (2 marks)

TOTAL FOR PAPER = 50 MARKS[image: image7.jpg]
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